Sr

10

1"

12

13

14

15

Questions

s S s o e S SO (S S e Az

508 S iy Sl

= Vsl JSaS 1S DR S:

w:}‘xw‘)g‘)é{,‘.‘nsdbé‘)ﬁu

= LSk IS s 1S S e w5 S S

U LS 5 S ISEL S ) e sy S SE g3A

B i e b o 58 0 R (e (Basmse (S Vs S &6 S

A58 s s e (S e o€ (S SIS e gy Sl

B ¥ sa )l JSsaS 1S il

€y ol Ly 5 S il

= Qaidia (s L8 (S by

du:\um;\sybci}‘adaﬂu\wwj)g‘)#:

= oS e

= Ak S Gl (S S

Answers Choice

DOWmP» DOWr DOUP DO®mP UODP DOWF DO®mP U0DP U0m» 00UR

CO® > UOWP DOUP U0UR

13 g SEUS
13 g B

L

i S il

c“‘Jﬂ
c“'dﬁ)"é

Cu2s + Cu20
Cu20 +FeS

Cu2S + FeS

FeO + 802 + Cu2S

2 dele D8 Gl m ey B
= dalse 1 @l el Gy
= el o

= dalse Sl G

Cu2S.FeS
Cu2s
Cu20
FeS

70%
80%
90%
98%

dalse 5
dal e o
dal e Jla
dale gl

as]
o
BES
S35

S5 S
d.‘.s_,; ’stl,,\
S5 8l S

CuO FeS
FeO Cu20

Fes Cu2S
FeO CuS



16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

S LS o RS i S (e i S T3, S

§ = i Juantind Jgd Cam ) gha 380 8 o (S e i) e

e OIS (S el S i S (e D Aa ke

= U L (e (0 guef T eSS ST L o (e ) a2k

U LSy ol (S (641 43

o S Jleaiud (ae UM S S asilidmse s e s s

L e O S T i) comisScae i mn e

i S ol S S s oS S s

= Vse ol (e € Sl Sl

208 S S 3 Sl

e S (o K-

= b oalls aad 5SS s

€ o Ua LS ol (S g gy A5 518 ¢ B

= NS S sye b 25 se 3l e

o gy 1S il s (e i) 0% ) o Ul 118 S ST (5 0 IS s (0 ISl e

= s LS L L sal-

i DR (S Oa I e o) o DM A i s B L)

o o gy IS Ly S S ULy (e Sl

w >

. 300°C
. 350°C

D. 450°C

o)

OOwW» UOWP» TOWP UOUP DOEP» UOW» 0OWP 00w

om» COowP DOW

> DOoW>» DO

> Do®mP» TOmP» OO

i Bs3s,0
i s
NS

WUINTPTS
CJ o8

Js

C2H4
C3H18

C12H26

EEEEIEE
Dp ke oS

3 (S a S
Rk

L

a8
DNA

Oy Gl
Sullad

SSadst
Ky

Ol s K
. L.Z L,
i S350 5 35

Cu2Ss

CuS
FeS

23k

o

pza s

;’S ’s. S
S Kl 5
S K S
95%

75%
100%

22 (S oy
i S B
U (SS-

Joss
RIS

NaHCO3

Na2CO3
(NH4)CO3

o 2 sl

o g3 (Ol sl
o oy A

26.65%
. 36.6%

. 56.6%
3

qQ



34

35

36

37

38

39

40

41

42

43

44

45

46

i S Jlerind (e 58 (S S S a8 e Ly 2

€= b Ul (e 0 pus€ S5l Ka& T L € s (e i)~ ia

LS o RS a8 (e (i 8 S U3 K-

Culoa o o el S oS JusS 8 (S T e 5.

= s Juenind U S sy GISG 8 (o (05S-

= s S (e JF s

s Juanind U s (e 5 Al ) Jla (5 ms S0 8 (i S (S a5 S

= e G308 (S g S o S e e O

= Ol)saS S S e IF G xS-

= S (S S e BT US4

oS 08 4 s N -C1-C4

= b 53y 8 a8 1 -C7-C10

=S 88 a1 N5 C5-C7

12

g

o) ol 8

C2H4
C3H6

C12H26

300 L 8 e £
350 %R S s R

[

450 L8 i s K3

200 % R i s K3
300 L8 e A3

. 500 &8 s s K5
BERE LN

LdT 58
L Jsd

. C2-C10

C10-C14
C10-C12

o8 a5
ds Sy
Ji Jos

OWP» UOWP UOWP UOWP DOWP TOWmP» U0UP O

s
5

@ >

D. dssi

C10- C12
C13-C15
C15-C18

C7-C10
C10- C12

DOW> DOW

C15-C18

e o
J;;jig
I s S

oow

B. Jeil ol
C. odsf
D. di cpus S

A Al

C. cdsmf
D. & s S



